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Question Number : 1 Question Id : 90898821 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
A computer program that translates one program instruction at a time into a machine language is called a‘an

Options:

1 Interpreter

~ % CPU
5 » Compiler

4 % Processor

Question Number : 1 Question Id : 90898821 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
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Options:
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Question Number : 2 Question Id : 90898822 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Which of the below menu command is used to apply design template in PowerPoint 20137

Options:
, % Tools > slide design

5 % View > slide design

5 w Insert - slide design

4  Format > slide design



Question Number : 2 Question Id : 90898822 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Options:

, x &0 > ¥ fBa== (Tools > slide design)

, T > Forss TBS (view > slide design)

£

. « $7AC > Foss f3SmEa (insert > slide design)

, v PIHE > FEE f3SmEa (Format > slide design)

Question Number : 3 Question Id : 90898823 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

What is the correct full form of POST?
Options:

1 « Power-on Self-Test

- w Programme-on Self-Test
5 % Power-on System-Test

4 % Programme-on System-Test

Question Number : 3 Question Id : 90898823 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Options:
1 « Power-On Self-Test

» » Programme On Self-Test

- » Power On System Test

4 » Programme On System Test

Question Number : 4 Question Id : 90898824 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 WrongMarks: 0
Windows XP is an example of which of the following?

Options:
| v System Software

> u Utllity Software
- % Application Software

4 % Basic Software

Question Number : 4 Question Id : 90898824 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
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Options:
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Question Number : 5 Question Id : 90898825 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0
Which of the following is true?

Options:

, w Byte is a single digit in binary number.

> % Bitrepresents a group of digital numbers.
5  Byte is an eight digit binary number.

, % Bitisan eight digit binary number.

Question Number : 5 Question Id : 90898825 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Options:
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Question Number : 6 Question Id : 90898826 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Specialized programs that assist users in locating information on the Web are called

Options:
, w Information engines

» % Locator engines
- % Web browsers

4  Search engines

Question Number : 6 Question Id : 90898826 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
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Question Number : 7 Question Id : 90898827 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
You can use to copy selected text: and to paste it in a document.

Options:



, ¢ CIRL+C,CIRL+V

, w CTRL+C,CTRL +P

z % CIRL+5,CTRL +5

4, % SHIFT+C, ALT +P

Question Number : 7 Question Id : 90898827 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Options:

. » CTRL + C, CTRL + V
. » CTRL + C, CTRL + P
. » CTRL+ S, CTRL + S

, » SHIFT + C, ALT + P

Question Number : 8 Question Id : 90898828 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
In Notepad. what menu is selected to change font and style of Text?

Options:
1 # Tools

> # File
= o Format

4 % Edit

Question Number : 8 Question Id : 90898828 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Options:
. od (Tools)

i,



.« TS (File)
. » BHE (Format)

, « USE (Edit)

Question Number : 9 Question Id : 90898829 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
are attempts by individuals to obtain confidential information from you by falsifving their identity.

Options:
, « Phishing trips

» % Computer viruses
5 % Special function cards

4 % Scanners

Question Number : 9 Question Id : 90898829 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Question Number : 10 Question Id : 90898830 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
Shadow, Glow and Soft Edges are known as:

Options:
, w Fontstyles

- % Font effects



= % Word Art

4 Shape effects

Question Number : 10 Question Id : 90898830 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Question Number : 11 Question Id : 90898831 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
Which of the following topologies is least affected by addition/removal of a node?

Options:

, « Ring

~ % Star
= % Bus

4 % Net

Question Number : 11 Question Id : 90898831 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Options:
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4 % W

Question Number : 12 Question Id : 90898832 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

The effects are special types of effects that allow vou to speeify how you to navigate from ooe slide to the other.
Options:

, % Special

- % Animation
= « Transition

4 % Mail merge

Question Number : 12 Question Id : 90898832 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Question Number : 13 Question Id : 90898833 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
Which of the following is NOT a valid image format?

Options:
1 B tifft



Question Number : 13 Question Id : 90898833 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Options:

5 % gif
5 % Jpeg

4 v MPeg

Question Number : 14 Question Id : 90898834 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
Guidelines for creating a well-done presentation include all EXCEPT:

Options:
, % naintain a consistent appearance.

- » keep it simple.
- » make it lively.

4  Usea large variety and quantity of sounds, animation, and bells and whistles.

Question Number : 14 Question Id : 90898834 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Question Number : 15 Question Id : 90898835 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



Which file format can be used when picture is a photograph or have lots of colours?
Options:
1 v Jpeg

2 Aif
= % -bmp

4 % -pic

Question Number : 15 Question Id : 90898835 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

ﬁﬁ?ﬁﬂﬁmﬁmaﬁmﬁﬁﬁﬂﬁﬂﬁmumqﬁ:wﬁﬂﬁEITElT?HﬁT%'?
Options:

| v iPeg

5 % -bmp

4 % -pic

Question Number : 16 Question Id : 90898836 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0
What is Pixel?

Options:

1 % Acell

> # Atype of picture
-  Apixel is a single point in a graphic image

4 # A molecule

Question Number : 16 Question Id : 90898836 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
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Question Number : 17 Question Id : 90898837 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

A family of graphic characters that usually includes many type sizes and stvles is called a:
Options:
. v Lypeface

~ % Font
3 % Point

Question Number : 17 Question Id : 90898837 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Options:
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Question Number : 18 Question Id : 90898838 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

If you need a text to show vertically in a cell, how will you achieve this?
Options:

; w Choose vertical on Text alignment in Format cells dialog box



o  Choose 90 degrees in orientation of Format cells dialog box

- u Choose distributed from the vertical drop down list of Format cells dialog box

4 % Choose center across selection from Horizontal combo box in Format cell dialog box

Question Number : 18 Question Id : 90898838 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Question Number : 19 Question Id : 90898839 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
DVD stands for:

Options:

, « Digital Versatile Disk.

> % Digital Value Disk.
= % Direct Versatile Disk.

4 % Dual Versatile Disk.

Question Number : 19 Question Id : 90898839 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
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Options:
, « Digital Versatile Disk

. w» Digital Value Disk



= % Direct Versatile Disk

4 # Dual Versatile Disk

Question Number : 20 Question Id : 90898840 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Which of the following does NOT belong to the Mathematical and Trigonomeiric function category in MS-Excel?

Options:
| v MAX()

, « ROUND()
2 x SUM()

4 B ABS()

Question Number : 20 Question Id : 90898840 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Options:

| v MAX()
, « ROUND()

. % SUMQ

, u ABS()

Question Number : 21 Question Id : 90898841 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0
Which shortcut key can be used to switch between worksheet tabs from right-to-left. in MS-Excel 20137

Options:

, w Ctrl+Page Down

> u Alt+Page Down

5  Ctrl+Page Up



4 w Alt+PageUp

Question Number : 21 Question Id : 90898841 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
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Options:
, = Ctrl + Page Down

5 % Alt + Page Down
5  Ctrl + Page Up

4 » Alt + Page Up

Question Number : 22 Question Id : 90898842 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
By pressing Ctrl + E together in Word documents which action will be performed?

Options:
, w Exit Application

> % Select all
= # Clear all

4 Align center

Question Number : 22 Question Id : 90898842 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Question Number : 23 Question Id : 90898843 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

The magnstic storage chip vsed to provide non-volatile direct access storage of data and that have no moving parts are
known as

Options:
| % Magnetic Core Memory

5 % Magnetic Tape Memory
- % Magnetic Disk Memory

4  Magnetic Bubble Memory

Question Number : 23 Question Id : 90898843 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Options:
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Question Number : 24 Question Id : 90898844 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
In which type of attack the attacker destroys the repudiation of peer to peer network?

Options:
, % Misleading
- % Misguiding

= « Detour



4 % Blackmail

Question Number : 24 Question Id : 90898844 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Options:
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Question Number : 25 Question Id : 90898845 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
In which year the first dial up connection was made?

Options:
1« 1965
> % 1960

s % 1970

4 % 1975

Question Number : 25 Question Id : 90898845 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Options:

.« 1985

- % 1960

2 % 1970

. % 1975



Question Number : 26 Question Id : 90898846 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Which log records information about components or drivers of a computer svstem?
Options:

, » Component log

» % Driver log
5  System Log

4 w Device log

Question Number : 26 Question Id : 90898846 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
FiA T FT FYET FECH F FEdleiee I FEaK & G- F AR 1S T 87

Options:
el A

| % SHIFdIAeE ol

o Ryt il

f it
5  THESH oM

. w T3ETSH e

Question Number : 27 Question Id : 90898847 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Drum inside the toner cartridge is:

Options:
1 % Piezoelectric
> % Piezo sensitive

= % Photoelectric

4 + Photosensitive

Question Number : 27 Question Id : 90898847 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Question Number : 28 Question Id : 90898848 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

POST is related with which process?
Options:

; % Debug

> % Compile
= « Boot

4 % Load

Question Number : 28 Question Id : 90898848 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
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Options:

2597 / Debug

o

1.
., % ®asa / Compile

5 E}\EI Boot

4 % @IS/ Load

Question Number : 29 Question Id : 90898849 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
First sector of the hard disk contains how many bytes?

Options:



Question Number : 29 Question Id : 90898849 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Options:

| % 128
. % 256
2 o D12

. % 1024

Question Number : 30 Question Id : 90898850 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
What is the key combination to hide the selected columns in MS-Excel?

Options:

1 % CIRL+9
5 of (CTRL +9
= % CIRL +8
4 % CTIRIL. +1

Question Number : 30 Question Id : 90898850 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Options:

, % CTRL + 9

» ¢ CTRL + 0



2 % CTRL + 8

. % CTRL + 1

Question Number : 31 Question Id : 90898851 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0
Which function returns the accrued interest for a security that pays interest at maturity in MS-Excel?

Options:
1 « ACCRINTM function

> % ACCRIMT function
z % ACCPRINT function

4 % ACCMINT function

Question Number : 31 Question Id : 90898851 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Options:

. v ACCRINTM therars
- % ACCRIMT ®a=
- % ACCPRINT HaA

4 % ACCMINT &R

Question Number : 32 Question Id : 90898852 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Which file format is used to save MPEG4 Audio Layer Audio Book?

Options:
1 « mdb

5 % mp4dca

= % mmda



4 w mpdb

Question Number : 32 Question Id : 90898852 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
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Options:

, % Mp4ca
=z % mda

4 % mp4b

Question Number : 33 Question Id : 90898853 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Which file format is used to save Adobe Portable document format?
Options:

% pdfm

> v Pdf
z % adf

4 % Pdt

Question Number : 33 Question Id : 90898853 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Options:

. % pdfm
> v PAf
2 ¥ adf



Question Number : 34 Question Id : 90898854 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
What is the key combination to open the view tab?

Options:
; % ALT+S

5> o ALT+W
3 # CTRL+W

4 % AIT+V

Question Number : 34 Question Id : 90898854 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
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Options:

L % ALT + S

, ¢ ALT + W
2« CTRL + W

L% ALT + V

Question Number : 35 Question Id : 90898855 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
What is full form of USB?
Options:

1 # Uniform Serial Bus

» % Unique Serial Bus

% % Universal Series Bus

4 + Universal Serial Bus

Question Number : 35 Question Id : 90898855 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Options:



| Ao WIS 77 (Uniform Serial Bus)
o e d@IRTe 38 (Unique Serial Bus)
iiia Ifeaaa €8 8 (Universal Series Bus)

- fegae §iTe a7 (Universal Serial Bus)

Question Number : 36 Question Id : 90898856 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
How many versions of USB were available till 20157

Note: For this question, discrepancy isfound in question/answer. Full Marksis being awarded to all
candidates.

Options:

1.3

ra
h

Question Number : 36 Question Id : 90898856 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
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Note: For this question, discrepancy isfound in question/answer. Full Marksis being awarded to all
candidates.
Options:

1. 3

> D

Question Number : 37 Question Id : 90898857 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
Which of the following is NOT a way to connect mouse to the computer?

Options:



, = Serial port
> % Bus connection

PS/2

Ly
®

4 « PS/1

Question Number : 37 Question Id : 90898857 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
fr=fofia & & fFes aRT Fogex & a3 # Fasc 781 har =1 Fhar g2

Options:

1. ® ﬁlﬁ'ﬂﬂ'tﬁ!

- R EREF m%m
s % PS/2

. v PS/1

Question Number : 38 Question Id : 90898858 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
How many layers are available on DVD-47?

Options:
1 ® 2

>« 4

3_&35

P
E
Lh

Question Number : 38 Question Id : 90898858 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

DVD-4 & fFraar o aidr 7
Options:

1_2.32

o 4



3%-36

4 % 5

Question Number : 39 Question Id : 90898859 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
ISP stands for Internet Service *

Options:
1 % Protocol

» % Privacy

3 « Provider

4 % Protector

Question Number : 39 Question Id : 90898859 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
$AC wA " "I IPS & IOT T g

Options:

| % GrareRrer
o w TS
. o ST

Question Number : 40 Question Id : 90898860 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
Google Stands for:

Options:
, w Global Oriented Organization Group Language Of Earth

-  Global Organization Of Oriented Group Language Of Earth

5 » Google Oriented Organization Google Language Of Earth



4, » Global Organization Of Oriented Google Language Of Earth

Question Number : 40 Question Id : 90898860 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
TET (Google) & RAFaRa & gl

Options:

-t

TeTEe frTeE st 7™ H7AT 3TF Y (Global Oriented Organization Group Language Of
Earth)

PR

Tolgel NS HIH HINTLS T oigast HF 37T (Global Organization Of Oriented Group
Language Of Earth)

:—j .

T HINTES AWAEve W oeas 3w #¥ (Google Oriented Organization Google Language Of
Earth)

4 M

THIEE HEAEANS HIE HINULE TE v HiE H#Y (Global Organization Of Oriented Google
Language Of Earth)

Question Number : 41 Question Id : 90898861 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
File compression works by removing from a file.

Options:
1 % old data

> % unsaved data
= « redundant information

4 % unused data

Question Number : 41 Question Id : 90898861 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

WE TUEA(FFEILA) TF FEd o W g HIH FIT 2l
Options:

W =eT
1. % 2

. » W #T AT ST



5 v HAETIH TR

4 % 2 SeT

Question Number : 42 Question Id : 90898862 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
Ac ” can store many more pictures than an ordinary camera.

Options:
1 Digital camera

> % Touch screen
3z % Plotter

4 » Lightpen

Question Number : 42 Question Id : 90898862 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
X " o Fruer FAE A geren F 9ga 3E TEN FaRd (FR) F T ¢

Options:

o R =] ﬁ'ﬂ
3 % Colle

4 ® f—»ng?:ﬁ?—r

Question Number : 43 Question Id : 90898863 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
receive the sound in the form of electric current from sound card and then conwvert it to sound format.

Options:
1 % Scanners

o o Speakers

3 # Plotters



4 = Digitizer

Question Number : 43 Question Id : 90898863 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
w15E wE ¥ faema 99 & w9 & wEE e & ¢ i O 5w aew wide # mw aa

Options:

1 ® ﬁ'ﬁﬂr
5% iy

, w BEEEeR

Question Number : 44 Question Id : 90898864 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
In MS-Excel, to activate spell check use function key.

Options:
; & Fll

2 ¢ FT

Question Number : 44 Question Id : 90898864 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

MS Excel # I3 F7= (FoTa 9%) o0 s & B FET FE S IUET B e
Options:

% F11

Question Number : 45 Question Id : 90898865 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 WrongMarks: 0
is a process of starting or restarting a computer.

Options:
| Booting

> % BIOS
s % POST

4 % CMOS

Question Number : 45 Question Id : 90898865 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
FEYET N IF F AT BT F & Fa & 951 g

Options:

gfeeT

1.¢ =«
. = BIOS
- » POST

. = CMOS

Question Number : 46 Question Id : 90898866 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
displays a set of resources on the internet in the form of menus or lists of items.

Options:

, « Gopher

> % World wide web
3z % Telnet

4 wu Hyper view

Question Number : 46 Question Id : 90898866 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
HEEH F He I AT F T H AT W TAAT F Th VT T&9d T gl

Options:




» T (Gopher)

1

Jo= 92T 39 (World wide web)
. cone (Telnet)

3 grsicd (Hyperview)

Question Number : 47 Question Id : 90898867 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Which key is used to encrypt data to protect it from unauthorized access?

Options:
1. EIlCi'}"ptLOJ‘.l RE}'

- u Datakey
- » Candidate key

4 » Serial key

Question Number : 47 Question Id : 90898867 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
e Foir F1 ITIRT 22T F IOEA JEE (TFEE) F 39 F T 3@ s e F e e 22

Options:

vieFeereT Feir
1. ¢ E

2

hZ3T Fil
T R 9

, HRTer FHelr
4, 3

Question Number : 48 Question Id : 90898868 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
1s a private network that is accessible only within an organization.

Options:



1 « Intranet
- % Internet
= % Routers

4 % WAN

Question Number : 48 Question Id : 90898868 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
T AT Acad & F 9 U e & Ha¥ JHIH (THRE) A T 2T gl

Options:

IJW
, x AT

=z ® 138

4 # WAN

Question Number : 49 Question Id : 90898869 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
chart is most suitable to indicate fluctuation of daily temperatures in MS-Excel.

Options:
1 « Stock

> % Surface
3z % Conic

4 % Area

Question Number : 49 Question Id : 90898869 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

MS Excel #, o a9A & 3aR-991F & ¢@ & oI T FEY 39 ¢
Options:

1. ¢ I+

Q_QW



g_wﬁﬁﬂ?

4.$.§'Eﬁ'5|T

Question Number : 50 Question Id : 90898870 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Pivot table is a data tool found in data visualization programs such as spreadsheets.

Options:
1 % creation

> % manipulation

5 o summarization

4 % assessment

Question Number : 50 Question Id : 90898870 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
e e TF TH E, A TEEH 39 S (ReeEees) W # 9 S

Options:

. AT (fFoee)

1.

. A (HAgee)

i

. » TR (FAETeE)

HodTehal (HUTHT)

4 ® A~

Question Number : 51 Question Id : 90898871 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
ALT + F4 key combination is used to a program that has stopped responding.

Options:
1 % start

- % open

5 #% Iesume



4 « abort

Question Number : 51 Question Id : 90898871 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

ALT + F4 F3 I T& |1Y g & d8 JH S & S R HA gT wF A B
Options:

| x IR

g &
o x AT H HRHA &

4. ¢ < &

Question Number : 52 Question Id : 90898872 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
A describes a deceptive user who attempts to break into a computer system or computer network.

Options:
1 « Black hat

> % White hat
=z % Red hat

4 # Green hat

Question Number : 52 Question Id : 90898872 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

I HFE IFEEA F AN A a8 S Feged S O FET dead F FEaE gue #
O FIAT £

Options:

| » %% T (Black hat)

, » T g€ (White hat)

. = 3 &< (Red hat)



L x T g (Green hat)

Section Id :
Section Number :
Section type:

Mandatory or Optional:
Number of Questions:
Number of Questionsto be attempted:

Section Marks:

Display Number Panel:
Group All Questions:

Question Id : 90898873 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension

Questions: No

Sub-Section Number:
Sub-Section 1d:

Question Shuffling Allowed :

Question Numbers: (53t057)
Juestion Label - Comprehension

READING COMPREHEMNSION

90898822
2

Online
Mandatory
1

1

5

Yes

No

1
90898822
Yes



The Koel

The Koel is one of our most familiar birds, its call being perhaps
even better known than its appearance. It is about the size of the
house crow, but is of slenderer build and has a longer tail. It
frequents gardens, groves and open country in large numbers,
especially large leafy trees. It lives entirely on trees and never
descends to the ground. During winter the bird is silent but with
the approach of the hot weather and its coincident breeding
season, it becomes extremely noisy. All through that season its
loud shrill, shrieking notes resound on the countryside throughout
the day and far into the night. The call begins with a low ku-oo, but
rises in scale with each successive ku-oo until at the seventh or
eighth it reaches a feverish pitch and breaks off abruptly. The bird
soon commences it all over again. Another common note is a
sharp quick- repeated kik-kik-kik uttered by the female as she
dashes from tree to tree or hops amongst the branches. lts food
consists chiefly of banyan and peepal figs and berries of various
kinds, but insects and caterpillars are also eaten. Its flight is swift
and straight, and a koel fleeing before the vindictive onslaught of a
pair of angry crows is a common sight.
The laying season is mainly from April to August and corresponds
with that of its most usual host, the house crow. lts eggs are rather
smaller, but very like the crows in appearance. As many as 11
have been found in a single crow's nest. The female Koel seizes
the opportunity to deposit her egg in the crow’s nest while the
male deliberately draws the owners away by leading them on a
chase.
Sub questions

Question Number : 53 Question Id : 90898874 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

Why is the koel referred to as one of our most familiar
birds?
Options:

, w There are many of them.

-  Its call is heard everywhere.
5 % It stays on different trees.

4 % They can be heard during the day and night.

Question Number : 54 Question Id : 90898875 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0



What is the peculiar feature of the bird?
Options:

; w Itistoo noisy.

> % Its notes echo clearly.
5 % It moves from gardens to groves and open country.

4  Itisnever seen on the ground.

Question Number : 55 Question Id : 90898876 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
When does the call of the bird stop abruptly?

Options:
|« After the 7% or 8t note.

> % After two times.
= % When it flies from tree to tree.

4 % When she is attacked by other birds.

Question Number : 56 Question Id : 90898877 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
What is the unusual habit of this bird?
Options:

; w She hops from branch to branch.

- % She flies directly and fast.
5  She lays her eggs in the crow’s nest.

4 % She makes two different types of sounds.

Question Number : 57 Question Id : 90898878 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
What does the koel feed on?
Options:

1 % Crow’s eggs



> o TIgs, berries and insects
- % Figsand berries

, % Grains and figs

Question Id : 90898873 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (53 to 57)
Juestion Label - Comprehension
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Sub questions

Question Number : 53 Question Id : 90898874 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

HIA T AN TIH IRT I83ar A F TF F T
I FOT AT SATAT £
Options:

| s
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Question Number : 54 Question Id : 90898875 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
qefr &7 3778 erar Far 87
Options:

- ugag?rshlraﬂﬁr%
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Question Number : 55 Question Id : 90898876 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

gefr &7 ST I=TAF FF 9¢ & Jar 87

Options:

L 77 77 &7 mETe ¥ e

. 59 IE TF U5 ¥ FY 9T OF 34T ¥

=
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Question Number : 56 Question Id : 90898877 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
=g gaft Fr FEHETT JET F4T 87

Options:
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Question Number : 57 Question Id : 90898878 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
HIT FAT TAT 27

Options:

TR, ST el

o oo

z ® ™, B-ﬁT R

i AT 3R TER

OUANTITATIVE AFPTITULDE
Section Id : 90898823
Section Number : 3
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 6
Number of Questionsto be attempted: 6
Section Marks: 6
Display Number Panel: Yes
Group All Questions: No
Sub-Section Number: 1
Sub-Section Id: 90898823
Question Shuffling Allowed : Yes

Question Number : 58 Question Id : 90898879 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



What should come in place of the question mark (?) in the following question?

25 x325+504+24="
Options:
, ®% 84.50

Question Number : 58 Question Id : 90898879 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Fafofa g7 & vmams REs (7) & s W F47 g @nfge?

25 x 325 + 504 + 24 =7
Options:

| % 84.50
.  83.35
- # 8353

. % 8245

Question Number : 59 Question Id : 90898880 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
A, B and C together started a busingss. The ratio of investment of Aand Bis 7 : 8 and that of Band Cis 4 ;9 Bgets a
share ¥ 7104 in anonal profit. What is C's share in the profit?

Options:
1 % Z 16,984
> ® Z 13,984

5 v 215984

L w 217,984



Question Number : 59 Question Id : 90898880 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

A, B AT C & v Ty cu=mry oF T A AT B ¥ BRw @ 7.8 % #T B st C ¥
a;raa?rrn?rd Q%iuﬁﬁﬁ!ﬁﬂdmaﬁmwmiﬁw%§ # C = fgrar fgar gvme

Options:

| » 16,984
. » 13,984
. v 15,984

. » 17,984

Question Number : 60 Question Id : 90898881 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

A takes twice as much time as B to do a particular work, A takes thrice as muoch time to do the same work as C. If A. B
and  rogether finish the work in 2.5 davs. then tind the time taken by A to complete the work alone.

Options:

, w» 1ldays

> w 12days

5 % 13 days

4 o 15days

Question Number : 60 Question Id : 90898881 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

M%ﬂwmaﬁraﬂﬁﬁﬂﬁﬂﬁaﬁmaﬂiﬁmm%laﬁmaﬁﬁtﬁﬂﬁ.aﬁrcﬂ
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Options:

4 v 15 Tt



Question Number : 61 Question Id : 90898882 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Evaluate the below expression.

7 a-1Z 5 4. .4 Z-22
; T 2 g ‘=
- —Zof (=+-0

G2 PR 7 3 B G f:——z

2 21

Options:

1_-&3 0

2« 1

3_&3 5

4.%53 7

Question Number : 61 Question Id : 90898882 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

o BT 777 O F g F

3= 1 1 %k
7 3—4> 5 T gl
2 ety _+_
522 A 7 7 1= "5 f25
2 7T 21
Options:
1_%-3 D
> o 1
3_%-3 5
4 % 7

Question Number : 62 Question Id : 90898883 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
The value of (1+2) (1+2) (1+2)(1+3) .(1+2) is:

Options:
1 ® 24

| b3

A 48



Question Number : 62 Question Id : 90898883 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
(1 +§)(1+§)(1 +§)(1 +§)(1 +i) FT AT AT HITAT

Options:

3.« 90

Question Number : 63 Question Id : 90898884 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Ot of fwo sections A and B of a class. if 10 students of B shift to A, the matio of students in A and B becomes 3 : 1. 1f
10 students of A shift to B, then the ratio of students in A and B becomes 7 : 5. The ratio of the mumber of students in A
and B is:
Options:

1o 211

-
#
L
|-

Question Number : 63 Question Id : 90898884 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

FNF A IR ANMEBEAT IR BF W TTAA T 9 §, & A #T B F oraf & 39 3
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Options:
1 W 2 9
- B 3 2 2

3%&43



4%-352

GEMERAL MENTAL ABILITY AND EEASONING

Section Id : 90898824

Section Number : 4

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 6

Number of Questionsto be attempted: 6

Section Marks: 6

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 90898824
Question Shuffling Allowed : Yes

Question Number : 64 Question Id : 90898885 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
The question is based on the following four letter-series. Smdy thess carefully and try to understand the rule in each
case,

(a)abz bcy cdx dew
(blazy byx cxw dwv
{chzxa wwh xve wud
(dyacz bdy cex diw
A term given below belongs 1o one of the above series. Find ouf to which series it belongs.

[EIELE
Options:
| « abz bey cdx dew

> % azy byx cxw dwv
% ZXa ywb xve wud

3

4 % acz bdy cex dfw

Question Number : 64 Question Id : 90898885 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



mF EERET TR HE-AEE W AURE ¥ SAE WETEE HEs w0 AT v A # e
FI AR FT TOTH F)

abz bcy cdx dew

azy byx cxw dwv

zxa ywb xvc wud

acz bdy cex dfw

e g TETT TOT B S SUeT e H W WEd &) 9% HES 79 siee SeE 9F @9 g

alalil
Options:

, w @bz bcy cdx dew

. % azy byx cxw dwv
5 % ZXa  ywb xvc wud

4 % acz  bdy cex dfw

Question Number : 65 Question Id : 90898886 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Find the option that is related to the third term in the same way as the second term is related to the first term.

Shark : Fish :: Lavender : ?
Options:

1 « Shrub
> # Tree
=z % Herb

4 % Climber
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Correct Marks: 1 Wrong Marks: O
In the following question. tweo statements P and G are given. You may look into their logical accepiability and mark
VOUL ANSWEL:

F: Some A's and some B's are C's. Some C's are both A's and B's.
Theratore some A's ars Bs.

0t All A's are B's. Some C's are A’ Therefore some C's are B's.

Options:
, « Ifboth P and Q are true.

» % IfPiscorrect and Q is wrong or doubtful.

- » IfPiswrong or doubtful and Q is correct.

4 % Ifboth P and Q are wrong or doubtful.
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The follewing questions contain a small paragraph followed by a question on it Read paragraph carefully and smswer

the question given below it

It iz up to our government and planners to devise wavs and means for the mobilization of about ten crore workers whose
families tatal up about forty crore mer., wornen and children. Our agrenlnms is over-manned. A lesser mumber of
aariculmurists would mean more purchasing o spending power to every agriculturist, This will result in the shorfage of
man-power for many commaedities to be produced for which there will be a new demand from a prosperous agranian
class. This shortage will be removed by surplus man-power released from apriculture as snggestad above.

The above passage best supports which of the below statements?
Options:
, » Employment in production is more fruitful than employment in agriculture.

Pl
Indian economy is in a poor shape basically due to improper sector mobilization of man-power.

3 %
A shift of labour from agricultural sector to the industrial sector would uplift the living standard.

R
The industrial sector is labour-deficient while the agricultural sector is over-manned in our country.
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Four pairs of words are given oni of which the words in three pairs bear a8 cerdain commen relationship. Choose the paic
in which the words are differently related

Options:
1 % Ammeter : Current

5  Hygrometer : Pressure
5 % Odometer : Speed

4 » Selsmograph : Earthquakes
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Except one option, all the other options below have a group of letters following a certain rule. Select the opiion that
does NOT share the common rule,

Options:

1 ® H

> v Q
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Question Number : 70 Question Id : 90898891 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
Name the American film cartoonist who created Mickey Mouse and Donald Duck.

Options:



1 ®% Warner Brothers
o  Walt Disney

5 = Steven Spielberg

4 % Hanna Barbera
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Correct Marks: 1 WrongMarks: 0
Match List —I (rivers) with List —II (towns) and select the correct answer using the codes given below:

List—1I (Rivers) List — II (Towns)
A. Gomti 1. Guwahati
B. Brahmaputra 2. Rajahmundry
C. Godavari 3. Timuchirapalli
D. Kaveri 4. Lucknow

Options:
, « A-3,B-4,C-2,D-1

, « A-2,B-1,C-3,D—4

¢ A-4,B-1,C-2,D-3



. % A-4,B-2,C-1,D-3
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The head office of the National Bank for Agriculture and Rural Development (NABARD) is located in:

Options:
1 # ILucknow

-~ » Hyderabad

s # New Delhi

4 « Mumbai
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The excess of price a person is to pay rather than forego the consumption of the commodity is called

Options:
1 % Price

> % Profit

5  Producer’s surplus

4 % Consumer’s surplus
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Malaria parasite and Amoeba are grouped under:

Options:



1 « Protozoa
> # Porifera
=z % Coelenterate

4 % Anilida3
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Who among the following was the founder of Dev Samaj?

Options:
1 # Vallabhbhai Patel

-~ % Dadabhai Naoroji
- « Siva Narayan Agnihotri

4 % Ram Krishna Paramahansa
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Question Number : 76 Question Id : 90898897 Question Type: TYPING TEST Display Question Number : Yes

Wornens History Month is an annual declared month that is traditionally held in March, but the study of
woImens history is valuable all twelve months of the year. Women hawve overcorme daunting odds to succeed
and excel in all areas of human endeavor, including science, manufacturing, athletics, business, and
exploration.
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Question Number : 77 Question Id : 90898898 Question Type: TYPING TEST Display Question Number : Yes

Everywhere vou go, people are talking about going green and how it impacts the planet. From plastic bags to
chernical products, people are trying to corme up with irmpactful ways that can help them adopt the practices
for going green. Practically speaking, following all the environment friendly activities is sirmply a persorial
choice. No one can force individuals to contribute towards the betterment of this planet. But, being a part of
this beautiful planet earth, you should definitely try to make this place a better place to live in. The future
generations will sirmply love you for your efforts. A Native American proverb says that we do not inherit the
earth from our ancestors. We borrow it from our children. Hence, it is an urgent need to keep the planet clean
and green. Different studies and researches hawve concluded different benefits or reasons to go green. Some of
the major ones are mentioned here. First of all, you should understand that you could significantly boost the
overall value of your home just by making your home eco-friendly. By installing solar panels on the roof top
or adding a water saving toilet, you will not only save money, but also create a perk for new buyers. Moreover,
green homes use sustainable materials that have low impact on the environment, Also, your horme 1s more
durable, if vou Create an environment friendly home. Recycled products have the tendency to last over five
tirmes longer than the traditional materials. Hence, you will save rmore rmoney ol iaintaining your horme. Green
homes hawe better indoor air quality, 85 paints and cleaners are 1ow in volatile organic compounds, which
make it comnfortable for home owners to breathe. 4 green atmosphere is also important for reducing the
harmful effects of pollution. As a result, yvour family and kids will be able to breathe fresh air and stay
protected against any diseases or infections. Recycling further helps you to be more creative, as get the
opportunity to create useful iterms out of recycled materials. You grow as a mature human being with Green
choices, such as investing in everything that is energy or material efficient and buying less and used products.
Using natural products make you a healthier person. When you will be healthy, vou are going to be more
productive at workplace. The less chemical products you use, the less toxins your family would breathe. This is
why everything, right from household products to COsmetics are available in eco-friendly version. Going green
i5 also effective in reducing your electricity bill. By switching to renewable energy sources, like solar panels,
_FL and LED, vou Can save considerable amournt of money every month on your electricity bill.
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